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A A A A AR

0 Complete the sentences. There are | "/ | equal groups of 3

a) @q@qﬁ‘?q S REI RN R EIREI R EIRE
[ %[ ?[ ? x| 3]=| 2!

Could you write the number sentences in a different way? O}

Multiply by 3 %

There are é equal groups of 3

3+3+3+3+3+3=|8

3 Y 0 Write two multiplication sentences for each part of
6 X - the question.

¥ "X X
"X X
"X X
"X X
"X X

There are [‘ equal groups of

2]=] 3]+ 2]+ 3]+]3 3 LS =L

la=l-(><3 5x3=LS
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b)| 3 | 3| 3|3 |3 |3 ]|3]|3]3]3 e

6 lots of 3
is 6 more than

5 lots of 3

(@

0 |x| 2 |=| %0

Do you agree with Dora? _NO

Explain why.
= A= %
o Complete the diagram. Hx3x343+D23+ B+ 3
=d+3+ \
Number story Bar model Sx3=2+3+3+3+3 30 kS 3 mere,
E.j. There ore é6 plokes ¥
witr 3 cupcokes on each
ploxe. 31313(3]3]|3
0 Which is the odd one out?
6 x3=18 Tick your answer.
Addition sentence Draw it ZL/;

3+343+3+3+3 =8 @@ @ ..... ﬁﬁ
E.qg-

4 ('5 4’ e e .@
t m
e Complete the number line.

Explain your answer.

A the gher ho X

6
| 3 xS
|

Is there more than one answer? @

White
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